F30E REFE 2)&9’- — LRI EFIERE
X & B X

= 15 ARILNES

FENRBE 7466888 (A)

SMAL:32F—L64%

2 NF— LB AR R

9GXx2A=18G

g iz F— L% E F 4 7 R
B B | REBFA | # KRB (KRHF ™) REEZ2(KRE M) 3,652
Xl | REXHA | EXES(FHET) FEERAKRET ) 3,592
£ 34 | REFFB | M TFTHA(LEAT) MEER(ART) 3,571
%4 | REXEC | EHFSFH (EATH) BETUOAFUEAT) 3,569
% 5 1 | BRI | 08 B(XEHH) EEEE(REHMH) 3,552
% 6 L | WMHAXEB | BAEBE(EAT) N £ 5 # (FREH™H) 3,552
INMT—LE| REBFC | R BX(HhHH) B BE—-— (R W) 480
NAV)—XE REBFA | % XKE(KRH W) EREEZ(RF M) 1,316
BN B RE R 9G

I i X & & 1 F % 7 R

& i REFXH x B B 2 (kR B W) 1,980

# 2 B W EH S AR £ % B = (T | &1 T ) 1,881

% 3 fu REFXH A 8 KB (F kR W) 1,858

% 4 S ER S AR n £ F #& ( | F W ) 1,832

% 5 i RIEXHEB E H F & (&8 X ) 1,809

% 6 REFXE = #H & & (F #h @ ) 1,803

% 7 i REFXH R B XK (% H & ) 1,796

% 8 fi RE AR & E B (& % W ) 1,789

ik REFXH B & B (& kR ) 279

REFXE = H & & (F 8 ) 279

NAV)—XE REF AR A & B (A kR W) 708




